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PART A: Vocabulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- The living conditions of the tenants were certainly --—---—--- when the landlord finally
installed washing machines and dryers in the basement.
1) displayed 2) distinguished 3) illuminated 4) enhanced

2- The first few moments after the explosion were pure --—---—: no one was sure what had
happened, and the area was filled with people running and yelling.
1) reluctance 2) chaos 3) malady 4) prevention

3- Of the seven ancient “Wonders of the World,” only the pyramids of Egypt are still
1) recollected 2) controversial 3) extant 4) innovated

4- The lawyer ------- -- the contract, searching for any detail that could pose a risk for her
client.
1) reinforced 2) blamed 3) rationalized 4) scrutinized

5- The news of the plane crash has not yet been —-----— by independent sources.
1) verified 2) recognized 3) confronted 4) advocated

6. Mr. Peterson gave up the world of politics when he was still at the ------e-- of power,
which really surprised everyone.
1) zenith 2) cross-section 3) nadir 4) velocity

7- The committee members were won over to the project by the ~---eev-- arguments of the
chairman.
1y wholehearted 2) respectable 3) cogent 4) stubborn

8- Although he committed the crime, because he was mentally ill he should not be
considered --------- for his actions.

1) imaginative 2) culpable 3) vindictive 4) illieit

9- With difficulty, I could —-—--- the shape of a whale off the starboard bow, but it was
too far away to determine its size or species.
1) resolve 2) interpret 3) magnify 4) discern

10- His strength and ---—--- --in the ring, and his ability to knock out the toughest of
fighters, won his fame and acceptance.
1) affectation 2) coercion 3) dexterity 4) impression

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

fits each space. Then mark your answer sheet.

Fuel cells have been hailed as a savior of the environment, because they can turn hydrogen and

other fuels (11) -----—-- electricity cleanly and efficiently. But the technology has been
hindered by the high cost of the platinum catalysts (12) -—---—-.

Hydrogen fuels cells, for example. work by pumping hydrogen gas past one electrode (the
anode), where (13) -==--m- into its constituent electrons and protons. The electrons then flow
through the anode. (14) —------- electrical power, while the protons diffuse through the cell.
Electrons and protons both end up at a second electrode (the cathode), (15) —--—-- they
recombine with oxygen from the atmosphere to form water.

11- 1) for 2) and 3) into 4) with

12- 1) they require 2) are required 3) they are required 4) as is required



13- 1) splitting it 2) its splitting 3) splitting 4) it is split
14- 1) providing 2) to provide 3) that provides 4) provide
15- 1) which 2) there 3) where 4) then

PART C: Reading Comprehension:

Directions: Read the following two passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheet.

PASSAGE 1:

An earthquake causes vibratory motion to the mass of earth through which the energy waves
pass. and this motion is transmitted to the engineering structures standing on the earth's
surface. They get impulsive jolts in both the horizontal directions and also to some extent in the
vertical direction. The vertical motion is prominent in the epicentral region. but it decreases in
significance with distance from the epicentre.

The vibratory jolts cause additional shears and moments in the structures and it may fail if
they have not been adequately designed. The loss of life and property occurs directly from the
failure of structures and mayv also take place due to indirect causes such as failure of water
supply. fire caused by short circuiting of electric wires or kitchen fires, flooding through
failures of dams and embankments or due to Tsunamis (sea waves). It 1s, therefore necessary to
consider this aspect in designing enginecring structures.

16- According to the text and earthquake engineering, which is the best technical
expression for the "epicenter"?
1) fault 2) impulsive 3) motion 4} vibration

17- In the second line of second paragraph, pronoun "it" refers to:
1) The additional shears and moments 2) The jolts

3) The structures 4) The vibration
18- What is the synonym of "prominent"?
1) estimable 2) important 3) valuable 4) worthy
19- The embankment means:
1) a vital hill 2) a large dike
3) a wall of carth 4) a small breakwater
20~ In the first paragraph, the term "to some extent" means:
I ) most of the time 2) some how 3) some what 4) often
PASSAGE 2:

Which choice best fits each space?

Production of concrete of low permeability depends to a great extent on successful uniform
placing of the material. An agent which improves the plasticity of a given mixture without
causing deleterious effects or which limits (21) -=----------——- and thereby reduces the number of
large voids. might also be classified as a permeability reducing admixture. Air entraining
agents may also be considered under this, since they increase workability and plasticity of
concrete and help to reduce water content and bleeding. An air entrained concrete has lower
B I and capillarity till such time the air content do not exceed about 6 percent.
The aspect of damp-proofing and waterproofing of concrete is a very (23) ------eeem- topic. It
embraces the [undamentals of concrete technology. Among many other aspects, the w/c ratio
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used in the concrete, the compaction, (24) ---------—--- of concrete, the admixture used to
reduce the w/c ratio, the heat of hydration. the micro-cracking of concrete and many other
facets influence the structure of hardened cement paste and concrete. which will have direct

bearing on (25) —------mmm-—- . damp-proofling and waterprooling.

21- 1) damping 2) compacting 3) bonding 4) bleeding
22- 1) absorption 2) contraction 3) expansion 4) splitting
23- 1)simple 2) trifling 3) changeable 4) complex
24- 1) abrasion 2) corrosion 3) cracking 4) curing
25- 1) consistency 2) durability 3) permeability 4) strength

In the following three questions, substitute the best meaning for specified words:

26- Collapse

1) bearing 2) rupture 3) rapture 4) shear
27- Settlement

1) creep 2) failure 3) shrinkage 4) subsidence
28- Sewage

1) waste walter 2) sash water 3) water hole 4) water cannon

In the following two questions, choose the best choice which completes each item:

29- The steel-faced vibratory roller is normally used for the ------------ of rock.
| ) compaction 2) crushing 3) grading 4) saturation

30- Deep foundations may also be installed by -———-—- --- conerete in a bored hole.
1) casting 2) grouting 3) placing 4) setting
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